Sr Questions Answers Choice

A. 7 years <br>
1 Ponam is twice as old as Sumeera. Three years ago, she was three times as old as Sumeera B. 6 years <br>
. How old is Ponam now? . 8 years <br>

12 years <br>

12
15
18
20

2 A father is now thee times as old as his son five year back , he was four times as old as his
son. The age of the son is.

5

10
15
20

In a town 65% people watched the news on television , 40 % read a newspaper and 25%
3 read a newspaper and watch ed he news on the television also. What percent of neither
watched the news on neither television nor read a newspaper?

RS. 15 <br>
RS. 45

RS. 35<br>
RS. 25<br>

4 cost of one dozen knifes is RS.180. Find the cost of one knife.

RS. 8.25<br>
RS.7.25
RS.5.25
RS. 6.25<br>

5 Cost of 20 kg flour bag is RS. 165. Find the cost of 1 kg flour?

RS.820
RS.720
RS.620
RS.420

6 Cost of half dozen chairs is RS.3630. Find the cost of one chair.

RS.25.35
RS.27.35
RS.21.35
RS.28.35<br>

7 Cost of 12 liters cooking oil is RS.256.20. Find the cost of one liter oil.

Rs. 70.50<br>
Rs. 60.50<br>
Rs. 80.50 <br>
Rs. 90.50<br>

8 Cost of 5 liters cooking Rs. 302.50. Find the cost of 1 liter.

RS. 52<br>
RS.55
RS.56
RS.57

9 If cost of 2 1/2 kg ghee tin Rs.130, then find the cost of one kg ghee.

. Rs. 1512.5<br>
. Rs. 3512.5 <br>
Rs.2512.5

. Rs. 4512.5<br>

10 if one meter wire costs Rs. 50.25 then what will be the price of 50 meter long wire?
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